Z
T
=
P

AbE 8 A A

20088 = =0l &t 283 H|

Za 20 a2
S4B S (e & J)
SN SAEH) - MRAL - Ao Shitr bl D=2
n; 26, 640, 922 15, 365, 204 11,275,718
o FHE 23 26, 619, 522 15, 352, 644 11, 266, 878
F&|etx o 11,385, 773 3, 552, 355 7,833,418
SN s S 70, 400 84, 680 A 14,280
201 LEer2gH| 20, 000 30, 280 A 10,280
01 AtS2e2ldl 20, 000 22,680 A2,680
OAMR2elHl S 20, 000
202 0G4d| 40, 000 44,000 A4, 000
01 =LHObI 40, 000 44, 000 A4,000
O=Ual 40, 000
203 @R F=&lH| 2,400 2,400 0
03 AlMFXHIF=LZIHI 2,400 2,400 0
ONHETASZTY| - 2, 400
301 et a3z 8, 000 8, 000 0
10 SAAHIEA S 8, 000 8, 000 0
OJfmEre @ Hasd) J2DS X - 8,000
K SEESAIE (FAHZ0F) 8, 622, 000 1,137,375 7,484,625
403 AtX|IEHHSA=01H 8, 622,000 1,137,375 7,484,625
01 XXSHHA2EEX 8, 622, 000 1,137,375 7,484, 625
OXNEESAY 11, 496, 000, 000& *75% = 8, 622, 000
[ 5, 748, 000]
== 2, 874, 000]
OrEe =y 850, 000 210, 000 640, 000
403 XtXISMSA=201H 850, 000 210, 000 640, 000
01 XXSHHA2EEX 850, 000 210, 000 640, 000
OOt A= H (3 L) 2, 500, 000, 0003 *34% = 850, 000
[2] 650, 000]
(= 200, 000]
SMsIIES 80, 000 0 80, 000
307 2IZtol A 50, 000 0 50, 000
04 QIZISHAIE X 50, 000 0 50, 000
OF4ol stotg 5 50, 000




2 E AT
BN AW 2
CHol: &= AD|BHE A (29 S 2)
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
308 X HMSOIH 30, 000 0 30, 000
01 AUXNHHBANEES 30, 000 0 30, 000
OF4Z0F AIE2D| 2 HEIEXE = 30, 000
NFASJAES XA 60, 000 100, 000 A 40, 000
307 2I2tol A 60, 000 100, 000 A 40, 000
02 QUABAEX 60, 000 100, 000 A 40, 000
OI= ST AME S AILXA
100, 000, 000& *1JH 2 #60% = 60, 000
St FLEXA 147, 000 349, 000 A 202,000
308 AXHMSOIH 147, 000 334, 000 A187,000
01 AXNHHBAEEZ 147, 000 334, 000 A 187,000
Ot =39 X2 5, 000& *20, 0005 *15% = 15, 000
OSO0tXl Ak OFH AL 20, 0002 *20, 0005 *15% = 60, 000
OSOtXIH A A/ X2 15, 0002 *32, 0005 *15% = 72,000
LEsIIEH 745, 050 648, 000 97, 050
308 X HHMSOIH 640, 050 210, 000 430, 050
01 RXXSMBIAESEZ 640, 050 210, 000 430, 050
OR(T)E MasEAAY
5,000, 000& *293. 4&E*15% = 220, 050
OLd=EsIItIE=H AN 400, 0002 *7, 0005 *15% = 420, 000
403 XX SHHSA=01H 105, 000 438, 000 A 333,000
01 XXSHXA=2EX 105, 000 438, 000 A 333,000
OFCrEAL W AL XI&
7,000, 000 *100IH 2~ *15% = 105, 000
N=sEs=EAN K& 112, 500 82, 500 30, 000
308 X HMSOIH 60, 000 30, 000 30, 000
01 AXNHHBANEXES 60, 000 30, 000 30, 000
O=3¢ OIAAMSXA 100, 000& *2, 0005 *30% = 60, 000
403 XX SHSA201H 52, 500 52, 500 0
01 XXHAHA=2EX 52, 500 52, 500 0
OJt=elEs=dS HUIXNRA  7501+2, 333, 333& *30% = 52, 500




2 E AT
BN AW 2
CHol: &= AD|BHE A (29 S 2)
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
et s8R 136, 000 64, 000 72,000
403 XX SHHSA=01H 136, 000 64, 000 72,000
01 XXISHXMAELX 136, 000 64, 000 72,000
O o} ZRAE XE
4, 000, 0002 * 125K E*20% = 100, 000
OLAH=sIH SHAHXHED AIEXIA
180, 000, 000& * 1 2 *20% = 36, 000
JIEPIEs 4RI 304, 050 222,800 81,250
408 XX SHHSA=01H 304, 050 222,800 81, 250
01 XXSHXNA=2EX 304, 050 222,800 81, 250
o=t 54 XN 475, 665, 0002 *3E *15% = 214, 050
OAssIH X 5, 000, 000& *60CH*30% = 90, 000
NSAFEZ A 258, 773 265, 000 AB, 227
403 XX SHHSA=01H 258, 773 265, 000 NG, 227
01 XTXHHA=2EX 258, 773 265, 000 AB, 227
OSAMNEIAAEXA 1, 055, 486, 0002 *15% = 158, 323
OIS A2 & AP X & = 100, 450
S Herd 2,889,959 2,843,949 46, 010
SNRRSAAY 1,829, 892 1,564,819 265, 073
308 AXHMSOIA 1,829,892 1,564,819 265, 073
01 AXNHHBAEXES 1,829, 892 1,564, 819 265, 073
Ot A A (32, 860Y) = 1,829, 892
[J] 1, 552, 635]
== 277, 257]
SNIEHESY 80, 000 70, 000 10, 000
307 22tol A 80, 000 50, 000 30, 000
02 QIZtAAMS =X 40, 000 30, 000 10, 000
Ot F9B8HE 84 = 40, 000
04 CIZFSHALE = 40, 000 20, 000 20, 000
OF4=E BN L A3 &It
3, 000, 0002« 10H Al = 30, 000
OF4&E AHIFSEE#MAL = 10, 000




S A=A
M=o P U

Colmnzmoy (Erol #@ e
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
Ots=XANERF XA 42,130 42,130

308 XAXHHMSOIA 42,130 42,130 0
01 AXSHMBAEEF 42,130 42,130 0
Oots= A 164, 2473 *855%H *30% = 42,130
PSR PN 300, 000 270, 000 30, 000
403 KFXIEHA| 300, 000 270, 000 30, 000
01 RrXI&t 300, 000 270, 000 30, 000
OMMREt A XA
10, 000, 0002 * 10071 A *15% = 150, 000
O=SAIE HEAMNE X
40, 000, 0002 *25J A *15% = 150, 000
UE TAZ A 637, 937 697, 000 AB9, 063
308 XXX SOl 72,000 0 72,000
01 XXIEHX 2x3 72,000 0 72,000
O2 AL S MXI& 80,0003 3, 000JH*30% = 72,000
403 XHXI St 565, 937 697, 000 A 131,063
01 XXt 565, 937 697, 000 A 131,063
O&ds= AMESHAXA = 230, 637
OUAZ AFZ2&2 THHH XI&
112, 220, 0003 *30 22%9% = 30, 300
ORE2IZAIL | N MEIXA
9, 000, 0002 *50CH * 15% = 67, 500
OZAMZE SF4MEH K& 300,000, 000& *2IH A+ 15% = 90, 000
O3Eels MeX2 MUK
759, 2592 *900hax 15% = 102, 500
O2EX Ar2&2 THHH X &
1, 200, 000& *250ha*15% = 45, 000
o= M2l , 090, 092 3, 604, 041 1, 486, 051
FHE etz K& 492, 000 428, 767 63, 233
307 2I2tol A 492, 000 428, 767 63, 233
02 QIzt& 492, 000 428, 767 63, 233
OEFZA & = 443, 000




2 A E AT
B EN YH

‘3%’43;&%0%’40%”%& (e & 3)
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
[J] 266, 000]
= 177, 000]
OHOPAI =X & 10, 000, 000& * 77 & *70% = 49, 000
[D] 35, 000]
= 14, 000]
IIEEEXelAE 1, 956, 642 1, 840, 344 116, 298
403 XXM S K201 ™ 1,956, 642 1,840, 344 116, 298
01 XXHHA=2EX 1, 956, 642 1,840, 344 116, 298
ON=EaH=IsAEXNA 1,956, 642, 000 = 1,956, 642
(= 1, 630, 535]
= 326, 107]
N=EEREe ¥ HES 1, 646, 950 1, 050, 750 596, 200
308 AR HHMSOIH 536, 250 438, 750 97, 500
01 AUXNHHBAEEZ 536, 250 438, 750 97, 500
OBl &YX 150, 000& *5, 500ha*65% = 536, 250
(= 412, 500]
== 123, 750]
403 XX SHHSA=01H 1,110, 700 612, 000 498, 700
01 XXSHXA=2EX 1, 110, 700 612, 000 498, 700
(@R 3:IPSESESNE- 17,000, 000& 1187 *45% = 902, 700
(=2 601, 800]
(& 300, 900]
Ou¥H|s=S4dH 200, 000, 000 *2IH 2~ *52% = 208, 000
(=2 160, 000]
== 48, 000]
NEEZHYSIAMNSXE 150, 000 230, 000 A 80, 000
308 XAXHHMSOIA 150, 000 150, 000 0
01 XXHMBAEXEZ 150, 000 150, 000 0
OFAHHE (L H) N AL
5, 000, 000 *200t on*15% = 150, 000




= A

HEEN AW L
Crol EAS O MR (cHel: M A)

SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
gl Y| MA RSB ELRIA 412, 500 0 412,500
403 XX SHHSA=01H 412,500 0 412,500
01 XXISHXMAELX 412, 500 0 412,500
OYddlaZxXES A& 200, 000, 000 *3I A *30% = 180, 000
OUHEHEIMEZ AMAXRA 84,975 0003 *77|x29% = 172, 500
O==XZZHN AMEX& 400,000, 000&A*1IH L*15% = 60, 000
SRS ELS N 432, 000 0 432, 000
403 XX SHHSA=01H 432, 000 0 432, 000
01 XXSHXMIAELX 432, 000 0 432, 000
OHDI| HEEZED| XA
220, 000, 000 44 2 *30% = 264, 000
OM=2s EEX N&F 60,000, 000 x84 2 +30% = 144, 000
O=x28 SEXE K& 20,000, 000& *4I £ *30% = 24,000
Jtsgdae] 7,253, 698 5, 352, 299 1,901, 399
EY¢d 2,900, 195 2,433,505 466, 690
206 =l 522,930 498, 030 24,900
01 THEHl 522,930 498, 030 24, 900
OH=H=E(25E) g = 522,930
[= 522, 930]
308 AXHMSOIA 2,377,265 1,935, 475 441,790
01 XXSMBAEEZ 2,377,265 1,985, 475 441,790
OWLEEA=H XNA = 223, 300
(=2 165, 000]
= 58, 300]
OIIsSYAAY = 1,729,135
(=2 1,348, 913]
= 380, 222]
OX22 M2t HEE Y| 119, 0005 *7, 000& *51% = 424, 830
(=2 249, 900]
= 174, 930]




Mo

BB SN

CHol: JtE oot o) (Chol: &)
SH-BH-SA(BH) - MBAY - BLS 0f) &+ o Shitr HDS2
II=EEZEME 2,579,983 2,187,154 392, 829

202 o4l 10, 000 0 10, 000
01 =LH0dHI 10, 000 0 10, 000
SHEFEPE - 10,000
307 glz2tol & 907, 803 825, 276 82, 527
02 YULBIHd=EX 907, 803 825, 276 82, 527
Os@EMEas2AH(27Y) = 907, 803
[l 544, 682]
== 363, 121]
308 X EHHMSOIH 1,662,180 1,361,878 300, 302
01 MAEHIdEx= 1,662, 180 1,361,878 300, 302
OJ=Egds sy 28 1,938,000, 0002 *65% = 1,259, 700
(D] 969, 000]
(= 290, 700]
OJt=ss 2HY M=l 619, 200, 000& *65% = 402, 480
(2] 309, 600]
(& 92, 880]
SgdggHY 278, 000 320, 000 A42,000
201 et 4,000 0 4,000
02 324l 4,000 0 4,000
OJt=gYy Jtged 12/ *4, 000, 000& *100% = 4,000
206 M =H| 100, 000 150, 000 /50,000
01 M=l 100, 000 150, 000 A 50,000
OFHNeE & 213898l = 100, 000
308 AHXIEHHSOIH 112, 500 170, 000 57,500
0 MXSHBARES 112, 500 170, 000 A57,500
OGEIISTEY oY £54E
20, 000& *18, 750kg*30% = 112,500
403 X XIS S K201 & 61,500 0 61,500
01 NXEMA2EX 61,500 0 61, 500
OA ¢9E A=y &£x X3
5, 000, 000 5091 2% 15% = 37, 500

_7_
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=Rk
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Ciel ol S ureia o) (crol M el)
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
OA 2 g 2RASAIE I
4, 000, 000 *40J] A~ *15% = 24,000
INSEEUEXA 176, 640 131, 640 45, 000
308 AXHMSOIH 176, 640 131, 640 45, 000
01 AUXNHHBANEEZ 176, 640 131, 640 45, 000
OZ=2| Xl 77 %550, 0002 1200 & *20% = 101, 640
OLR2Net dAtd| = 75,000
st E XA 592, 880 140, 000 452, 880
308 XX HMSOIA 592, 880 140, 000 452, 880
01 RXSMIAESEZ 592, 880 140, 000 452, 880
OHsIH 2E2 oAl X
10&*50, 000, 000==*30% = 150, 000
OASEIEY olgehal X = 50, 880
OJ=dgd 288 AN
3, 000, 000& * 10074 2 *15% = 45, 000
OYXSHSLLA HFRA XA
8, 0002 *100, 0005 *25% = 200, 000
OIJ357 HISZH X& 5 000&*140, 000kg*21% = 147, 000
NSLAAEXA 636, 000 0 636, 000
403 AtXISHHSA201H 636, 000 0 636, 000
01 XXHHA=2EX 636, 000 0 636, 000
OREMH S=& K& 800,000, 000 *1IH A +21% = 168, 000
OsZ2MAKXelAIdXI& 30,000, 000& *500H & x20% = 300, 000
OFEMd2=UsLSAEXA
8, 000, 000 * 10090 & #21% = 168, 000
RIISSHlAMS X 90, 000 90, 000 0
308 XAXHHMSOIA 90, 000 90, 000 0
01 XXHMBAEXEZ 90, 000 90, 000 0
ORJIEs=2 XMelAg 2,0000t2(%150, 000 *30% = 90, 000
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